BEE

2FIUR
:|J FTWRFUVT

E © 50 65 75 100

B HE (B UAHR] -ERfERAB

r.n = TXL m D
.
~<
© i
} ‘
o
L E |
SUS-ET-100N,
M12x 35
TR
HERBRRNERBAA—TTT,
S| T | M | & | & & R
& & B W Hink H OIE BftE hl EvF- g R pogv) "o HEEFE BRGES
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kgf)]
SUS-ET-50EL,M12x 35 50 20 68 22 47 25(25.5)
SUS-ET-65EL,M12X 35 65 85 19 23 56
21 M12 1.75 35 30(30.6)
SUS-ET-75EL,M12X 35 75 95 27 65
SUS-ET-100EL,M12X 35 21
SUS-ET-100EL,M16 X 40 100 27 126 M16 2 31 82 50(51.0)
HAILPP 40 23
SUS-ET-100EL,W3/4X40 | %= #&:I52hv— W3/4 10
SUS-ET-50R,M12x 35 50 20 68 22 47
30(30.6)
SUS-ET-65RH,M12X 35 65 85 19 23 56
21 M12 1.75 35
SUS-ET-75RH,M12X 35 75 95 27 65 40(40.8)
SUS-ET-100RH,M12 % 35 21
SUS-ET-100RH,M16 x40 100 25 126 M16 2 31 82 50(51.0)
AL 40 23
SUS-ET-100RH,W3/4X40 | = #:dL Wa3/4 10
SUS-ET-50N,M12x 35 50 68 22 47
40(40.8)
SUS-ET-65N,M12Xx 35 65 21 85 19 23 56
M12 1.75 35
SUS-ET-75N,M12x 35 75 95 27 65 50(51.0)
SUS-ET-100N,M12 %X 35 21
SUS-ET-100N,M16 X 40 100 25 126 M16 2 31 82 60(61.2)
RO 40 23
SUS-ET-100N,W3/4X40 | = #:F1o> W3/4 10
SUS-ET-50UR,M12X 35 50 68 22 47 38(38.8)
SUS-ET-65UR,M12X 35 65 21 85 19 23 56 40(40.8)
M12 1.75 35
SUS-ET-75UR,M12%X 35 75 95 27 65 45(45.9)
SUS-ET-100UR,M12x 35 21
SUS-ET-100UR,M16 x40 100 28 126 M16 2 31 82 60(61.2)
ROV 40 23
SUS-ET-100UR,W3/4X40 | = #Ls> W3/4 10
SUS-ET-100NR,M12X 35 e M12 1.75 35 21
SUS-ET-100NR,M16 X 40 100 27 126 M16 2 31 82 60(61.2)
40 23
SUS-ET-100NR,W3/4 X 40 W3/4 10
KA FAO
#F fwds

. g 1-IAZNF(19mm21mm)
FAIR 21x23Z/¥F

058





